
ANSWERWITHEXPLANATION [SET–31]

1.(d)

2.(b)

3.(c)
4.(d)

5.(c)
23,66,69,11,21

6.(b)

7.(b)

8.(a)

9.(a)

10.(a)
IV.Transistor
I.Translucent
II.Transparent
III.Transport

11.(b)
(1+11)x(11-1)=120
(2+7)x(7-2)=45
(3+5)x(5-3)=16

12.(b)

13.(c)
BothconclusionIandIIfollow

14.(c)

15.(b)

(16–20):

16.(b) 17.(d) 18.(a) 19.(d) 20.(c)



21.(a)
Givenstatements:K≥J≤S...(i)

T>S ...(ii)
T>Q ...(iii)

Combiningallthesestatements,weget
K≥J≤S<T>Q
Thus,T>Jistrue.HenceIistrue.Wecan’tcompareKand
Q.HenceII(K≤Q)isnottrue.

22.(e)
Givenstatements:L≤M <N...(i)
R>N...(ii)
M =E...(iii)
Combiningallthesestatements,weget
L≤M =E<N<R
Thus,L≤Eistrue.HenceIistrue.
AgainR>Eistrue.HenceIIisalsotrue.

23.(e)
Givenstatements:W >X=Y ...(i)

Y>D=B≥A...(ii)
Combiningallthesestatements,weget
W >X=Y>D=B≥A

Thus,X>AorA<Xistrue.HenceIistrue.
Again,W >Bistrue.HenceIIistrue.

24.(d)
Givenstatements:A>B ...(i)

J≥A ...(ii)
Z>J≤M ...(iii)

Combiningallthesestatements,weget
Z>J≥A>B
or,M ≥J≥A>B
Thus,M >Bistrue.HenceI(M ≥B)isnottrue.
Again,Z>A.HenceII(Z≥A)isnottrue.

25.(a)
Givenstatements:P<D=E...(i)

M ≥J<D...(ii)
M >L ...(iii)

Combiningallthesestatements,weget
P<D=E>J≤M >L
HenceD>Jistrue.
Thus,Iistrue.Butwecan’tcompareLandP.HenceII
(L≤P)isnottrue.

[Ifanyqueryaboutthesequestionspleasecontact8167092555from 10am to6pm]


